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es 15% of his monthly

If ;{1 \ donal
‘ .« month, which is Rs. 1,875
cGate every n
I
hi pual income 18
11s < 1Ll

(B) Rs. 1,20,000

(A) ol 90,000
' - (D) Rs. 1,80.000

() %, 1,50,000
___information is those which

focus on numbers and frequencies rather
than on meaning and experience.

(B) Informal
(D) Qualitative

(A) Formal

(C) Quantitative

Which among the following district of
Harvana has highest urban child sex
ratio as per 2011 census ?
(A) Hisar

(Y Ambala

(B) Mewat
(D) Jhajjar

Understraightine method of depreciation,
cost of the asset is Rs. 11,000, scrap
value 1s Rs. 1,000, estimated life of ase
is 10 years. Therefore, the amow’
depreciation is
(A) Rs. 1,000
(C) Rs. 500

(B) Rs.-
(D) Rs>..0

The value of cot*10° — cosec*10° =
(A) 1 (B) -1
(©) 0 (D) -3

How much work is done in moving a
charge of 2 C across two points having a
potential difference of 12V ?

(A) 64 (B) 0.1667 J

(C) 244 (D) 124

o

national income” refers

to the country's total output of final
goods and services in real terms rather
than in money terms.

(A) Gross
(C) Real

(B) Net
(D) All of these
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10.

13.

14.

At Hanumanchattiof Haryana, Hanuman
(Ganga merges with which rnver ?

(A) Krishnawati
(C) Markanda

(B) Yamuna
(D) Dohan
The total of the current assets may

just be equal to the total of current
liabilities. Such a situation may be

called as working capital
situation.

(A) Positive (B) Negative

(C) Zero (D) None of these

Nahar Singh International Cricket
Stadium 1s situated in the
district of Haryana.
(A) Rohtak

(C) Faridabad

(B) Chandigarh
(D) Gurugram

Under the Payment of Bonus Act, 1965,
an employee eligible for bonus who has
worked in the establishment for not less
than working days in the

accounting year.
(A) 256 (B) 40
(C) 30 (D) 45

~
if A and B are 2 mutually exclusive e’

3 S S\

f a random experiment and P 35,
T)(:_’,) — 0.45, then the value of 2 B)is A PAUBE 1k
A) 0. (B) 0.85
(B) 0.5 (A) 0.90
iy e
(C) 0.80, (D) None of these (C) 0.80 (D)
Which of the following country became 13. 2018%H ﬂq-m%mm@ﬁiﬁﬂﬂﬁ@*
the first to perform succezagf;l-él 'Eeiembom- T = e far R & & TR 27
surgery in the world on 2015 : e
(A) France (B) India (A) ®E (B) s
(C) Canada (D) None of the above © FATE! (D) 3
___ costing 18 a system of 14. mﬁuﬁﬂlﬁﬂlﬂ@mt,
accounting in which all g;per:!se? (fixed forerit o+t =zt (Rafee i =) W FAE
and variable) are considered for the
agier\&ination of standard cost for a foufad % o= ﬁﬁew F foe tﬂ;ﬁ
prescribed set of working conditions. T w1 o 0 o faem R s E |
(A% Standard (A) W
(B) Budgetﬂl'}' (‘B) m
(C) Job (©) 1 _
(D) None of the above D) i ia Eﬁ'{?ﬂ
) -3- o ﬁ '
- ,h- i - L Q ._ 1
Lo ) b L. S Yo . ; fﬁ
s g L N/ as _ A
o 2 B T et < e % .
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- B

[y 1999, which Barrage was replaced by | 15, it i 1999 1 fFa o £ s
the H:nhmkuml Barrage in Haryang 7 gfvr:ﬂx'fg maatam?
(A) Ottu Barrage (A) mm
(B) Tajewala Barrage o(13) ATHATAT ATTH
(C) Anagpur Dam (C) m gq -
(D) None of the above (D) 39713 03 ?ﬂ'i E Al
16. The word ‘Depreciation’ is derived from 16. ez ‘fefufaue’ smmfofifem=
oLy o word Depretium. T 2,
(A) Latin (B) French ) “fe (B) %=
(C) Greek (D) None of these (C) o= (D) 778 | Fr 3
17. Tooth enamel undergoes corrosion when | 17. ZTdl %1 249 g Bﬁ AR, AR
the pH in the mouth is below pH af=EeEaE? |
(A) 6.5 (B) 7.5 (A) 6.5 B) 75
(C) 5.5 (D) None of these (Q 55 (D) 'ﬁﬁ JFE TR
18. is setting the exchange | 18 ° ____..Wﬁ a3 geae® ki HI
rate in advance. dﬁor ﬁ;‘tu{e trﬁn?acp%r: 2 e B O 9= 1 gfe 3 ufas & sam
ith view to avoiding the loss that mig
\%:'ise\ ]:i}ue to excha%ge depreciation in %ﬁmaﬂﬁq fafma = fuifa ﬂq[% |
LT)uYS%eculation - (W Hedging (A) H%ﬂ'ﬁﬁ (B) EEIC]
(C) Option (DB Arbitra~ L0) e (D) A==

19. How many cities are there ©°  aryana | 19. Fau | g ¥ e =R 7

at present ?

A 156 ®) 1. (A) 156 B) 157
(C) 150 (D) 154 (€) 150 D 154

20. Which cost is the sum of total fixed cost | 20, FH-Hi TV Fet Fifved o 3R Fa
and total variable cost ? yfadi a1 am 27
(A) Total fixed cost peave A\ Fo Ffraa arma '

(B) Total variable cost
(C) Total cost
(D) None of the above

(B) Fa aftadl amma
4C) Fe &

(D) Iugea | A FI1E T

21. How many rectangles are th i

figure ? S e 21 ﬁqrmﬁﬂﬁﬁﬁﬁ W# ?

' 1
]
(A9 }
gt (B) 5 o(A) 9

i M) 7 © 6 fg; :

D

‘ i
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25.

"
=l

U nder hqudation, which gives a complete
list of assets not specifically pledged in
favour of secured creditors ?

A Last B (B) Last D

(C) Last A (D) List C

In Haryana, Morni and Tipra ranges are
separated by the valley of

(A) Saraswati river

(B) Markanda niver

C) Yamuna niver

(D) Ghaggar river

Which error is the maximum error in
the population that the auditor would be
willing to accept and still conclude that
the result from the sample has achieved
the audit objective ?

(A) Expected error (B) Projection error
(C) Tolerable error (D) None of these

In France the low priced small books
printed on poor quality paperand bounded

in cheap blue covers were called
(A) Almanacs

(B) Chapbooks

() Biliotheque Bleue <

(D) None of the above

Who among the following is known as
the Jahazi Sahib in Haryana ?

(A) Pierre Cuillier-Peron
(B) George Thomas

(C) Robert Clive

(D) None of the above

Section of Factory Act, 1948
washing facilities ?

(B) Section 43
(D) Section 45

Which
defines the
(A) Section 42
(C) Section 44

: of the following cities of
?!1‘:_52::% as under the control of last

Mughal ruler ?
(A) Sonipat
(L&) Panipat

(B) Shahjahanabad
(D) Haujkhas

22.

23.

24.

%\J"

26.

27.

28.
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29. Which leads to division of laboy,

ind leads to tremeéndous increase in
;Il'inillc'll\ll_\
w\) Speciahzation
(M Privatization

(B) Hlnlmllz:lt.mn
(D) Liberalization

30. What is the chemical name of tasting

salt (A)i-no-moto) ?

(A) Monosodium glutamate
(B) Monosodium chloride
(C) Disodium chloride

(D)) None of the above

31. A is a software that lets
you view web pages, graphics and the
online content.

(A) Name Server
B) Application Server
(C) Web Server

(D) Browser

Under quantity, the point -
which nventory carrying costs are e
Lo order costs

(A) Cheaper order
(B) Financial order
(C) Costly order
(D) Economic order
3. ____ wasthef; rst Haryanvi film.
(A) Dharti (B) Chabilee
(C) B (D) Phool Badan

Jahurani

consists of the pe

rformance
of business activities that direct the flow
of goods and BEervices

from pProducer or
manuf;

wcturer to Consumer or user,
(A) Marketing (B) Pricing

(C) Buying (D) Selling

35.

The Video Graphicg A rray (VGA)
standard ig '

(:\} I{]:.’."I x ?‘;H Ijlx(-lq
B) 800 = 600

Pixels

4

1/2020 (26

fop wifvomm oyt faarsr S Femem i

29. _ .
' s gfg a2 7
{H\F;qff;m (B) A7
ﬁf, fsfrapm (D) F2TTF

g0, 2fen wiez (AfF-A1-0121) F1 Tt I
w?,_?q T [
(A) HHETER TEe
(B)mﬁmm
4C) mﬁaﬁmmsg
(D) 3 | & FI3 721

31 Wh_ UHHREAWE, A Ia s,

Ui 3R 3riems amf a2 2 |
(A) 99 T
B) veeftehyH gat

W) Fa T

‘(D) TR

39. W%ﬁﬁﬁﬂ,aﬁﬁsm“‘im@

JTEF AT, I AR} F SRS |
(A) TE=1 Sy
(B) faeftg amem
(C) 7&m A=y

AD) gt s

33, TEe! gt fen o |
@) gt (B) et
(C) =T (D) FF 727
34,

* (A) firqum (B) & Fyfor
(C) Tftam (D) =

35, il e iy (dsfe) A R
4 1024 x 768 frre
(B) 800 x 600 firae
) 1280 x 1024 frsde
D) 640 x 480 firgire
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36.

37.

38.

39.
40.

4l

42.

In Haryana, 18 celebrated

to welcome rain season.

(A) Teej (B) Baisakhi

(C) Gangore (D) Gugga Naumi

I'he coordinates and controls
the data flow in and out of CPU.

(A) Arithmetic Logic Unit
(B) Input Unit

(C) Output Unit

(D) Control Unit

The monthly income of 10 employees
in an office is Rs. 2,22 650. What is the
average income of an employee ?

(A) Rs. 22,265 (B) Rs. 22,500

(C) Rs. 22,750 (D) Rs. 22,700

In Haryana, Ladwa revolt of 1845 wr
lead by

(A) Jobit Kha
() Jodh Singh

(B) Pratr  .gh

(D) Ajit Singh
~_is a movement to

inform consumers and protect them

from business malpractices.

(A) Socialism (B) Anti-socialism

() Consumerism (D) None of these

The least distance of distinct vision for a
young adult with normal vision is about
(B) 2.5 cm

26 m
i (D) 2.6 m

(&) 25 cm

o 2 i« the risk that the auditor may
whwh :f tinm:-prt:);:n'iatxe opinion when
f;:::ﬁ:ﬂn(!iﬂl statements are materially

miﬂﬁtﬂted ? 2
(40 Detection risk
(C) Inherent risk

(B) Audit risk
(D) Control risk

36

37.

38.

40.

41.

42.

39.

1/2020 (26)

ml"ﬂﬁ_______r__?ﬁ'lﬂ F @A F
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i youth groups for children below
43. -

The Naz 5
14 years ol &
(A\) Junﬂ""‘m. )
(C) Brown shirts
_revenue is defined as the
increase in total revenue consequent
upon a small increase in the sales of the

(B) Gypsies
(D) Black shirts

44.

product.
(A) Average
(C) Total

() Marginal
(D) None of these

45. The highest peak ‘Karoh' is located in
which district of Haryana ?
(A) Panchkula (B) Nuh
(C) Kurukshetra (D) Ambala

16. system software is used

by all modern organizations to keep.
track of employees of the organization
who receives wages or salary.

(A) School management

@) Payroll management

(C) Hotel management

(D) Inventory management

w The equation of the line passing thr

the point (1, 2) and making an o f

60° with the x axis is
(A J.S_’x+y- V3 +2=0
B) V3x-y+2-y3=0
©€) VBx+y-J3=0 \
(D) None of these

——

\

48. Haryana was earlier known as
(A) Brahmavara (B) Jai Bharat
(C) Brahmavarta (D) Bharatvarsha
49. Complete the following form ula :
= Percentag, !
o= age change in
gquantity demanded - Percentage cﬁan e
in price .
(A) Cross elasticity of demand
(B) Income elasticity of demand
{(:) !)rice ﬂ[aﬂt](:it_\’ I‘;f de'nand —A—'g'
(D) Elasticity of supply ap
D

43.

44.

45.

46.

48.

49,
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iC) srmEd
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50.

51.

=1
| 84

53.

54.

55.

56.

Human Developmaont Report. which is
annually brought out by

(A) International Monetary Fund (IM ")

(B) International Bank for Rec mstruction
and Development (IBRD)

(C) United Nations Environmental
Programme (UNEP)

(D) United Nations Development
Programme (UNDP)

In which year the Indian Institute
of Management (ITM), Rohtak was
established ?
(A) 2009
(C) 2011

(B) 2001

(D) 2013
“Dispersion is the measure of the variation
of the items.” This is defined by

(A) Brooks and Dick

(B) Simpson and Kafka

(C) Spiegel

(D) A. L. Bowley

computers can exec’
of instructions per second.

(AS Super (B)
(C) Mim1 (D) M.uro

ns

In Haryana, Indori river rises near
(A) Shivalik hills
(B) Kaithal

(C) Kunal
(D) Mewat hills

Which country is the leading producer of
coffee in the world ?
(A) Brazil

(C) India
Khol Hi-Raitan
Haryana was €8
(A) 2000
(0) 2006

(B) China
(D) Columbin

wildlife Sanctuary of
tablished in the year of

(B) 2002
(I None of these

80. v famm fivs oy rfber w1 2

61,

52,

h4.

55.

o, LTI
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am

GUETTE

(A) W2 aifazf w8 AMF)

(B) S2rure o ol fra-asa9r U8
BAeZ (1BRD) _

(C) F152% Jura gangd-2e1 T (UNEP)

) 72T ey aemEz SUM (UNDP)

W WA gegm (11M), e $ war

i ad o d

(A) 2009 (B) 2001

(C) 2011 (D) 2013

“sram (Feeget) wel ) fren @ a2y

gy 7ra afvafeE 2

'A) e s e
(B) favma si wmEm

X0 fema
D) U, UE, ArIeh

Fop wia Jehe A R
%) fronfeq s w2 1

(A) q7 (B) 54 %1

(©) firf (D) HTEEH

wfamn b @ A mIgm F
ec 7

(A) Frrenfers #1 qerfeal

(B) Fuat

(C) e

(1 wara i gerfeal

FA -1 29 F6 1 ol e R 7

(A) aTsfie (B) "

() W (D) Freifam

56. wiEwm & @re #-Yaq a=sita s
A adAEd)

(A) 2000
(©) 2006

(B) 2002
(D) ¥ @ #d T

D
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!‘":5
____ audit i1s yet another

ML h -.5:[:..1'“ d”‘ected to ensure goud
-‘!"'\"r.'l{l’ g()\‘t‘!'nanC[‘_
(B) Internal
(D) Cost

\) Statutory

§) .\i;umgp-ment

h of the following city, country’s
| industrial smart city was
v the Prime Minister ?

38 Inw hic
first oreenfielc
1nauéuratcd b
(A) Chennal
(B) Mangaluru
(C) .f\urnng;-ih;ul
(D) None of the above

Who designed the High Court building
of Chandigarh 7

(A) Edwin Lutyens
(B) Le Corbusier

(") Laurie Baker

=
=

(D) None of the above

60. The Levels of Management of

(A) Top Management
(B) Middle Management
(") Lower Management
(D) All of these

61. In a certain code SWAN 18 written as
VZDQ. How is ROAD written in that

code ?
(A) URDG
(C) UPEF

(B) UXDQ
(D) VRGD

62. __________ costs are incurred
ench time an order for the purchase of
material is placed and are expressed
as rupee cost per order and include the
cost of getting an item into the firm’s
inventory.

(A) Carrving
(") Conversiiph

Y1) Development
ll)), Ordering

57.

58.

59.

60.

61.

62,
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S -l Ave FG1 2 I
gﬁﬁﬂﬂaﬂﬁ # fom fafima = gorredt @ |
(A) Eifafus (B) Al
(C) YaeH (D) =TT

ﬁmﬁrﬁaﬂﬁﬁﬁﬁamﬁ.%ﬁlmm

AB) WIS
() STTETE
(D) A HE FIS e

__i

w T W H SWAN ®1 VZDQ
St 2, @ 36t s # ROAD F T
o ¢

L URDG
(C) UPEF

oA e AR @ o R,
et ) @iz ¥ fere v s e
i wfy sy squ @vTd & &9 A
i T & e gt vl <) e A O
F1 T F3 ) erra mia ® |

(A) 987 B) famwma
(C) Sty (D) 3w ¥

(B) UXDQ
(D) VRGD
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63.

64.

66.

67.

68.

Which of these is an oldest wildlife
sanctuary of Haryana as per their year
of establishment ?

(A) Kalesar (B) Bhindawas

(C) Khol Hi-l{ni;zm (D) Khaparwas
F

A 1s usually a temporary
partnership without the use of a
firm name, limited to carrying out a
particular business plan in which the
persons concerned agree to contribute
capital and to share profits or losses.
(A) Partnership

(B) Public Company

(C) Joint Venture

(D) None of the above

1-12-91 ison Sunday. Which is the fourth
Tuesday of December 91 ?

(A) 17-12-91 (B) 24-12-91
(C) 26-12-91 (D) 31-12-91

Name the first Speaker of the Legislat®

Assembly of Haryana.
(A) Shanno Dev1

(B) Rao Virender Singh
(C) Ran Singh

(D) Swaroop Singh

Which Section of the Companies Act
specifies the matters to be included in
audit report of a company ?

(A) Section 225 (B) Section 226

(C) Section 227 (D) Section 228

The President of USA during Cuban
Missile Crisis was

(A) Abraham Lincon

(B) John F. Kennedy

(C) Wudro Wilson

(D) George Bush

-11

\’9,'»?

/2020 (26)

©3 9 v o i e ot @ e
W sty sqpmo #Ya-@ R 7
JA)W%} (p) Fzam
(C) @ne #-Yam (D) TATATE

b

64. UF HITA: U 3T geiE

R, 1 e = v o faen el B, v
fordve vt sivern a0 g A A i w2,
fores wfirs safa doft =1 A = 3f e
3ir gt =1 aren w0 * foo wewa 714 2
(A) wrfierd
(B) ®TESTTE I
C) GYF a

’:D)Ha‘?g:aﬁﬁaﬁ'é#ﬂ

65. 11240 % TRER on, & fgar 91 % 2
RIS 1 F - i g
)y 17-12-91 (BY 24-12-91
(C) 26-12-91 (D) 31-12-91

ve. R ) faTrrET ¥ as T A & 7
4A) T 3h
(B) T 9z fe

(©) T &=
(D) =&y e

67. Fot stfufem f FR-d 97 & w9 H
saE-gian fare § wive amet # e
FAIR 7

(A) HTI 225

(C) |/ 227

(18 s 226
(D) 1 228

e 3 frrarde i % 0 quae ¥
fd o

(A) Ten o

4B) S TF. F

(©) T2 faew

(D) ST 9

68.

: D
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e

~]

on

best malleable metal iy
(B) Lead
(!)) (‘{}'}')‘lr

The

(A) .\!umumm:

(C) Gold

In which vear Harvana had linked all its
-ith electrieity ?

(B) 1995

(D) 1970

70.
villages W
(A) 1999
(C) 1975

is an instrument to earn
more foreign exchange to bridge the
balance of payment (BOP) gap.

(A) Export promotion

(B) Import substitution promotion

(C) Exim policy promotion

(D) All of these

7L

World Water Day is celebrated every
year on
(A) March 22
(B) March 3
(C) March 21+
(D) None of the above

73. Which of the following is correctl’ ’
matched ? .
Lakes Distric.. of
Haryana
Rohtak
Sirsa
Faridabad

Kurukshetra

(A) Brahma Sarovar -
(B) Damdama
(C) Badkhal -

(D) Bhindawas -

Ifthe day before yesterday was Saturday,
what day will fall on the day after tomorrow 2
(A) Friday (B) Thursday

(C) Wednesday (D) Tuesday

——_ is the condition of
being physically and emotionally able

to perform wvital funet;
2 nctions normall
properly. Rt

(A) Safety

g (B) Service
(C) Health

(D) Hazard

-12-
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G9.

70.

71.

72.

73.

74,

75,

172020 (26)

apeiem st i ®

(A) veehfaam (B) en

(©) i (1) afan

fopm i wheon 3 st @f) A F e
A e fam ¢

(1) 1995

1999
5 (D) 1970

() 1975

 TEE 9 (BOP) S 1
vyt & feru, saferas fageft fafmm o = vs
IGF R |
(A) Frata g=m
(B) #ATd P
() srmama-fagta #ifq g=m
Sp;auﬂT
fage feam 1 9fd = wen
Siisdl |

ﬁZqT# " h:‘_ I
(B) 3 AT *v"
21 94
(D) 39 H | & T8
ﬁq‘%!mﬁﬁm—thwaﬂ% ?
s “wfrmon

A) FETaE -
(B) THamT . _

A i 9 & veet 7 e wfEw @, @
ST e % a1 71 ot - g 7
(A) AR (B) TR

4€) FR. (D) FTeEm

HISHTeRs: & &
e Hem B i ey d |

(C) ey



76.

80.

81.

82.

1/2020 (26)

Huc‘ri.fu:m?'-;-rllt-ii:_m;'liflh the flil"l-flillu a 76. FANTTA (Afgwrefim tform) # - ’ '1"“
fraction of s Lf“ llin mf;:ur ofa __p fram zm i frorvt 3 o TR
partner by the old ones. 1 U W e ey |
(A) Minor B New (A) FAranfem R e
(C) Sleeping (D) Retiring () Ffer (D) TafEa P T
Find the odd one among the following : 77. Tafatas 1\ wEa I8 71 T“ :
Skin, Eye, Leg, Nose, Ear @1, A, T, 9, FE
(A) Nose (B) Leg (A) AT (B{ﬁ'{
(C) Skin (D) Ear (C) T==T (D) =
Which profits relates to those profits [ 78. FA-A &9 H arnim Hﬁ'ﬁlﬁ 2, afa-ﬁ[qm
which can be legally distributed arlnong:il F e | 9 & SRRUTH] & d4 [JE
the shareholders of the company by way - aFad?
of dividend ? w9 H o = o —
(A) Divisible profits (B) Interim profits (A) favrsa =4 (B) sarH
(C) Quarterly profits (D) Annual profits (C)- Sl (D AT =
Juhi Chawla was crowned as Miss Indiain | 79 =1 firg sfem = faa@
|
(A) 1988 (B) 1994 L7 (A) 1988 B) 1994
(C) 1981 (D) 1984 (C) 1981 (1'}) 1984
‘ ' ’ Tam =1 ffes weem o fTem
Satara was merged with the Bry 80. =4 1848 W =1
administration in 1848 under the pc’ Toraef fifa & a=a faran a1 7
(A) Subsidiary Alliance (A) 9EIIF T3a49H
(B) Divide and Rule B) fearz vz =g
(C) Dual Government (©) et 9=
(D) Doctrine of Lapse ) gifFea 3% o
Chips manufacturers usually flush bags 81. == 4 aa o * 91 19 & 91y g
of chips with gassuchas to v faafsa +=4 ﬁ,?l'lﬁﬁ ) I SR 1
prevent the chips from getting oxidised. fa 1 Ivafia 3 8 T 3 a5 |
(A) Oxygen (B) Hydrogen (A) TR (B) TE3ISE
(C) Neon (D) Nitrogen (C) faata > mg’ﬁn
Kite flyvingisa major event in which among 82. frefaf@ad g Ff?.;ﬂ"ﬂ % fFm =fer 4 gan
the following festivals of Haryana g1 e i 8 |
: (A) @rEdl
o (B) T
(C) Basant Panchami XC) wEd
. : (D) FaTE
(D) Baisakhi D
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English Language i LieL
Eng=
he folloWIng question, out of the 4 LSS
- :{?‘-t.tn“gmup of words, choose the mis- S pust: g’ i = w3 2
gpelt one. < ‘
Ws“ (A) foreht @ waema 4 TETY
i i () v € e P
(C) Projection = e # i
(D) Educate W (&) FHaAl asl b

Jp)gzrﬁﬁﬂ-ﬁqﬁ

B4, The following question has four words
(options) of which three words have a
similar meaning or are synonyms. One 4 3
of the words has a meaning different | 88. wfifi-diiae@i?’ Feama__
from the rest. Select that word (option) 2 foasom 1 e 2 |

as the answer,

(A) foresight : wm

(B) prescience v (B) 9iHUETEF
{l(b)) ::Otrikmwmdge (C) FTwaTa*
redence
(D) 378 & F13 7
85. The following question consists-  .ord
or phrase which is under): in the
sentence given. 1t is folle Jy certain 7 i
word or phrase. Selectt”  ordor phrase | 89 fem TS 31 912 R |
is closest to the gpposite in meaning of (A) 32
the underlined word or phrase. %
- . B) &=
Raju often walks to school.
M) rarely (B) always (C) ¥&=pa
(C) sometimes (D) never

\1’25. In the following question, out of the
four alternatives, choose the one which

can be substituted for the given words/ [ 90. 59 Fujf F IR F Ty 3 =gl 3
sentence. i

Words written on the tomb of a dead i El'ﬁ é:nqgm, 3% __________ﬂai
peérson. (A) m

(A) Epitaph _

(B) Etymology® (B) faen

(C) Epigraph v
(D) Epilogue

D TORREE e C2 O
s - 2
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